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Sequence of Eveats - One Cycle
1. Ro*l'ah‘nq Weror requests  lasec fie,
2. Laser fires. Sensed [’7 Fast pkowa’r‘ode within laser box.

3. Mrer short (105 of ng) debj} APD qrr‘ch c'juf'er—! (Bl‘ctseo’) on.

4. Calibration phofons strike APD arfey (rew‘urm'mj From ‘relesco;m).
|5, APD gorte shats down thed (~100ns) time afrer furm‘nj on,
6. A logi puke says: “The neyt cfock Pu)se i the one Yo Py aHhention

7. Abot 25 ms  later, with the lunar Plﬂofons tnbound (from a much

@ﬂrh‘er lece)} the APD gdte opens for ~[Cns.

g. Lunar Plnoh)n; strike APD arf‘ﬂl7

7. APD gate clses, marking another 'special” Hme

0. Anaf*"kfr ~1Cmg glmlnses Be%l‘e the r0‘+ﬁ+'\l’l7 Mo o{fmc?llao{s anotler fite

Cur ‘jodl 1 1o

A) Measare +img ‘nteryal between events Lf&é} and BL w0 hl‘g;h preces

B) Count afl intervening clock pulses

¢) Reference measurements do event 2

D) Djmm?mf(y defermine qPProFN“q{-f e for eveat 7
£) Collect relevant data at ~ 75 ms wtetvaly
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